& doubtnut

India's Number 1 Education App

MATHS

BOOKS - CBSE COMPLEMENTARY MATERIAL
MATHS (HINGLISH)

TRIANGLES

1. Which of the following is not a criterion for

congruence of triangle ?

A. SSS


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BQBhZS5QVwvd

B. RHS

C. AAA

D. SAS

Answer: C

o Watch Video Solution

2.1f AB =~ CD then

A.AB < CD

B.AB+ CD =0

CCAB=CD

D.AB > CD


https://dl.doubtnut.com/l/_BQBhZS5QVwvd
https://dl.doubtnut.com/l/_eXCI3XkKd74Y

Answer:

o Watch Video Solution

3.f A ABC =2 /A DFEF then

A.AC = DFE
B. BC = DF
C.FE=CB
D.AB = DF
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_eXCI3XkKd74Y
https://dl.doubtnut.com/l/_9HkNhdrSReKl
https://dl.doubtnut.com/l/_AHXFPbWUM5NE

4. If one angle of a triangle is equal to the sum of the

other two angles, then the triangle is

A. an equilateral triangle

B. an isosceles triangles

C. an obtuse triangle

D. aright triangle

Answer: A

o Watch Video Solution

5. If AB=QR,BC=PR and CA=PQ, then


https://dl.doubtnut.com/l/_AHXFPbWUM5NE
https://dl.doubtnut.com/l/_uPFDcg6dn8iF

A. A ABC =~ A PQR

B. A CBA~ A PRQ

C. A BAC~ A RPQ

D. A PQR~ A BCA

Answer: B

o Watch Video Solution

6.In A ABC and A DFE,AB=FD,/A = /D .

The which of the following is correct ?

A.BC = EF

B.AC = DE


https://dl.doubtnut.com/l/_uPFDcg6dn8iF
https://dl.doubtnut.com/l/_KvOjZPjvqzOw

C.AC' = EF

D.BC = DE

Answer: A::C::D

o Watch Video Solution

7. If

A ABC ~ A FDE, AB = 5cm, /B = 40°, /A = 80°

Then which of the following is correct ?

A.DF=5cm,/F = 60°

B.DF=5cm,/E = 60°

C.DF=5cm,ZC = 60°


https://dl.doubtnut.com/l/_KvOjZPjvqzOw
https://dl.doubtnut.com/l/_dVdfGhi76ABZ

D. Both (B) and ( C)

Answer: A::B::C::D

o Watch Video Solution

8.In ANABC ,AB = AC , /B = 40° Then ZC is

equal to

A.50°

B.40°

C.80°

D. 140°


https://dl.doubtnut.com/l/_dVdfGhi76ABZ
https://dl.doubtnut.com/l/_WeTaImX2K5I1

Answer: D

o Watch Video Solution

9.In A ABC , AB=BC , /B = 40° Then ZA is

equal to

A.70°

B.40°

C. 140°

D. 100°

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WeTaImX2K5I1
https://dl.doubtnut.com/l/_caPGC7MNDpD0

10.In right A ABC, AB = BC ,then ZA is equal to

A.45°
B.90°
C.60°

D. None of these

Answer: D

o Watch Video Solution

1. In AN PQR,/R = /P, QR =4cm and

PR = 5cm , Then PQ =



https://dl.doubtnut.com/l/_caPGC7MNDpD0
https://dl.doubtnut.com/l/_IpiLUwnYIa64
https://dl.doubtnut.com/l/_bJwgdkNta2qH

A.4 cm

B.5cm

C.1cm

D.9cm

Answer: C::D

° Watch Video Solution

12.If a, b,c are the lengths of the sides of triangle , then

Aa—b>c
B.a+b<c

CCc=a-+b


https://dl.doubtnut.com/l/_bJwgdkNta2qH
https://dl.doubtnut.com/l/_rhvHdVL836Ll

D.c<a-+b

Answer: A::B::C

o Watch Video Solution

13. It is not possible to construct a triangle when the

lengths of its sides are

A.3cm,4cm,5cm

B.3cm,5cm,5cm

C.5.3cm, 2.2cm, 3.1cm

D.9.3cm, 5.2cm, 7.4cm


https://dl.doubtnut.com/l/_rhvHdVL836Ll
https://dl.doubtnut.com/l/_VHsFgfcZKp4c

Answer: A::B::C

o Watch Video Solution

14.In A ABC, ZB = 90° then

A.AC = AB

B.AC < AB

C.AC < BC

D.AC > AB

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_VHsFgfcZKp4c
https://dl.doubtnut.com/l/_rgublaQdnOO9
https://dl.doubtnut.com/l/_yyypw3dz8I4Y

15.1f A ABC, is obtuse angled at C, then

A.AB > BC

B.AB = BC

C.AB < BC

D. AC < BC

Answer: A::B::C

° Watch Video Solution

16.In A PQR,if ZR > ZQ then

A.QR > PR


https://dl.doubtnut.com/l/_yyypw3dz8I4Y
https://dl.doubtnut.com/l/_UiqTg9kWXtTv

B. PQQ > PR

C.PQ) < PR

D.QR < PR

Answer:

o Watch Video Solution

17.In A ABC and A PQR If AB = QP /B = /P,
BC' = PR then which one of the following congruence
conditions applies :

A. SAS

B. ASA


https://dl.doubtnut.com/l/_UiqTg9kWXtTv
https://dl.doubtnut.com/l/_pP9t3ZFieJ2F

C.SSS

D. RHS

Answer: A

o Watch Video Solution

18. In AN ABC and A DEF , if
LA =/F,/B = /D and AB = FD , then which one of
the folloing congruence conditions applies :

A. SAS

B. ASA

C.SSS


https://dl.doubtnut.com/l/_pP9t3ZFieJ2F
https://dl.doubtnut.com/l/_lDbGQxKTbjqy

D. RHS

Answer: A

o Watch Video Solution

19. In the given figure , the value of x is

A D
7 cm 7cm
5cm 5cm
3x 2x+20
B 6em c E 6cm F
A 4
B. 32
C.20

D. 180


https://dl.doubtnut.com/l/_lDbGQxKTbjqy
https://dl.doubtnut.com/l/_U3A9eXv5CQt4

Answer: C

o Watch Video Solution

20.If A PQR =~ A LMN then NL =

A. PQ

B.QR

C.RP

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_U3A9eXv5CQt4
https://dl.doubtnut.com/l/_0dNOu7iCVIFQ
https://dl.doubtnut.com/l/_8FdWrBJIllAF

21.1f A CAB =~ A MLK then ZK =

A LA

B.ZB

C.£C

D. None of these

Answer: A::B

° Watch Video Solution

22.In A ABC, ZC'is the greatest angle, then

A.AC > AB


https://dl.doubtnut.com/l/_8FdWrBJIllAF
https://dl.doubtnut.com/l/_WkB3JwOGj3I3

B.AB > AC

C.AB > BC

D. Both (b) and (c)

Answer: A::B::D

o Watch Video Solution

23.For /A ABC ,which of the following is incorrect ?

A.(BC — AB) < AC
B.(AC — BC) < AB
C.(AC — AB) < BC

D. None of these


https://dl.doubtnut.com/l/_WkB3JwOGj3I3
https://dl.doubtnut.com/l/_Ls0BFhB1Sidj

Answer:

o Watch Video Solution

24.For N\ ABC = A ACB,then

A. AB=AC

B. AB=BC

C. AC=BC

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ls0BFhB1Sidj
https://dl.doubtnut.com/l/_WmGtCUwFFKIX
https://dl.doubtnut.com/l/_5Cc92rlxt8vs

25. In the given figure AC is bisector of /BAD,

AB = 3cm, AC = 5em,then AD =

B
3em
A 5cm
\/C
D

A.2 cm

B.5cm

C.3cm

D.8 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5Cc92rlxt8vs

26.1f A\ ABC = /\ DEF then

AB

o Watch Video Solution

27.1f N ABC = A DEF then

o Watch Video Solution

28.1f A\ ABC = /\ DEF then

CA

[ o Watch Video Solution


https://dl.doubtnut.com/l/_5Cc92rlxt8vs
https://dl.doubtnut.com/l/_LHTLX0cV2DEd
https://dl.doubtnut.com/l/_F4RXQGvHdgkr
https://dl.doubtnut.com/l/_HF9lPQZIIy5U

29.1f AN ABC = /A DEF then

o Watch Video Solution

30.If A ABC = A DEF then

o Watch Video Solution

31.If A ABC = A DEF then

/BCA =



https://dl.doubtnut.com/l/_HF9lPQZIIy5U
https://dl.doubtnut.com/l/_4kaoa6yglXtk
https://dl.doubtnut.com/l/_qbV9vlfsVwmy
https://dl.doubtnut.com/l/_SBjcYohIxgTG

o Watch Video Solution

32. Circle O; = Circle O,, If radius of circle O; = 6cm

then diameter of circle O, is

o Watch Video Solution

33.In the given figure , if a= b = c then ZAOC =

?7?

o Watch Video Solution



https://dl.doubtnut.com/l/_SBjcYohIxgTG
https://dl.doubtnut.com/l/_VoKLtkiS4AN0
https://dl.doubtnut.com/l/_GBGqFmDPQHKO

34. Which of the longest side of the triangles given in

the figure ?

o Watch Video Solution



https://dl.doubtnut.com/l/_eP2e193ex3PV

35. Which of the largest angle in the A PQR?

P

5cm 6 cm

5.5cm

o Watch Video Solution

36. Which two triangles are congruent in the given

figure . Write them in symbolic form .


https://dl.doubtnut.com/l/_8EmIC66AMzT9
https://dl.doubtnut.com/l/_Cv69pmi2w4uZ

© Watch video solution

Part A Fill In The Blanks

1. Two figures are congrument if they have the

shape and same

o Watch Video Solution



https://dl.doubtnut.com/l/_Cv69pmi2w4uZ
https://dl.doubtnut.com/l/_5C9Seve63QG3

2. Two circles are congrument if they have radii .

° Watch Video Solution

3. Two equilateral triangles are congrument. if they have

sides .

° Watch Video Solution

4. Two square are congruent if they have sides .

o Watch Video Solution



https://dl.doubtnut.com/l/_VdulREOeRm1u
https://dl.doubtnut.com/l/_JfTr2IOxt0eQ
https://dl.doubtnut.com/l/_IeC22TjxXI0n

5. The sum of any two sides of a triangle is than

the third side .

o Watch Video Solution

6. The difference of any two sides of a triangle is

than the third side .

o Watch Video Solution

7. Fill in the blanks to make the following statements
true: In a right triangle the hypotenuse is the ... side.

The sum of three altitudes of a triangle is ... than its


https://dl.doubtnut.com/l/_pIiOTMfvSE5s
https://dl.doubtnut.com/l/_aUnVKHkHxdeV
https://dl.doubtnut.com/l/_C9mrewmcSHjS

perimeter. The sum of any two sides of a triangle is ...
than the third side. If two angles of a triangle are
unequal, then the smaller angle has the ... side
opposite to it. Difference of any two sides of a triangle
[[J— than the third side. If two sides of a triangle are
unequal, then the larger side has .... angle opposite to

it.

o Watch Video Solution

8. If two angles of a triangle are unequal , then the

smaller angle has the side opposite to it .

o Watch Video Solution



https://dl.doubtnut.com/l/_C9mrewmcSHjS
https://dl.doubtnut.com/l/_AUU1sK6Xo2Oe
https://dl.doubtnut.com/l/_er3TLeoeVzVF

9.If two sides of a triangle are inequal , then the larger

sidehas  angle opposite to it.

o View Text Solution

10. Theorem 7.3 : The sides opposite to equal angles of a

triangle are equal.

o Watch Video Solution

Part A State Which Of The Following Statements Are True

And False



https://dl.doubtnut.com/l/_er3TLeoeVzVF
https://dl.doubtnut.com/l/_a0h17IVuHRbm

1. In a triangle the greater angle has the longer side

opposite to it.

o Watch Video Solution

2. Two triangles are congruent if three angles of one

triangle are equal to three angles of the other triangle.

o Watch Video Solution

3.In a triangle , the shortest side has the smallest angle

opposite to it .

o View Text Solution



https://dl.doubtnut.com/l/_6ZHro01W3QN9
https://dl.doubtnut.com/l/_cbSWsV2FB4I4
https://dl.doubtnut.com/l/_2JE2h26y6J9k

4.1t is necessary to write the correspondence of vertices
correctly for writing congruence of triangles in symbolic

form.

° Watch Video Solution

5. All the line segment that can be drawn to a given line;
from a point;not lying on it; the perpendicular line

segment is the shortest.

o Watch Video Solution



https://dl.doubtnut.com/l/_2JE2h26y6J9k
https://dl.doubtnut.com/l/_oHVqcgZIkDMt
https://dl.doubtnut.com/l/_E2hFbhMbRN86

1. Match the columns :

ColumnA ColumnB

K
) SM (a) SAS congruence
L ~M
&cm

p
(i GN -
~R
@ 8 cm
N C
(ii) M = /w’\ (b) SSS congruence
30 M 30° B
t 6 cm A 6cm

A D
(i) &em & ~ B cm& (c) ASA congruence
B c E F
X A
iv) /\m = /\ (d) RHS congruence
( y& 70 Cm.39,. z Al 30

5 5cm

° Watch Video Solution



https://dl.doubtnut.com/l/_Z5rUeSLaFt77

2. Match the columns :

Column A Column B

(i)

x=7 (a)Z2cm

A X B p 10emq

i 09 = % x=?  (b)5cm
A

- B s ‘I1cmR

(i) x = x=7 (c)10cm
Db o) PO aQ

A P
&
(iv) ¢ = X x=7? (dj4cm
B : c Q t R

5 R 0 C
(v) 4em = x x=7(e)11cm

o Watch Video Solution

3. In the given figure . If AB = CD, AD = BC then

prove that A ADC = A CBA



https://dl.doubtnut.com/l/_IhEzrAVOnFuY
https://dl.doubtnut.com/l/_aRv69TEzyGra

o Watch Video Solution

4. If AABC is an isosceles triangle such that
AB = AC, then altitude AD from A on BC bisects

BC (Fig.43).

o Watch Video Solution



https://dl.doubtnut.com/l/_aRv69TEzyGra
https://dl.doubtnut.com/l/_jjf3liZ9bMzm

5. Which criteria of congruence of triangles is satisfied

in the given figure .

o Watch Video Solution

6. n a A PQR,/P =110°, PQ = PR . Find

/@ and ZR

o Watch Video Solution



https://dl.doubtnut.com/l/_s0CqZg3OVoPt
https://dl.doubtnut.com/l/_7NPT5etkp2mH

7. In the given figure AB=BC and ZACD = 125° , Find

LA

1257

o Watch Video Solution

8In A ABC ,if LA =55°, ZB = 75° then find out

the smallest and longest side of the triangle .

o Watch Video Solution



https://dl.doubtnut.com/l/_5elfjlLWfbp7
https://dl.doubtnut.com/l/_aNUoEK0t01Ku

9. In the given figure , AC bisects /A and ZC. If

B
f’f’/\
A <— C
R
T
5 chrﬁ“m/
[

o Watch Video Solution

AD =5cm find AB

10. The vertex angle of an isosceles triangle is 80° , Find

ot the measure of base angles .

o Watch Video Solution



https://dl.doubtnut.com/l/_l6fWVuvnwrlS
https://dl.doubtnut.com/l/_LkgNMsb3hdEG

1. If Q is a point on the side SR of a

APSRsuchtﬁQ = PRthenprovet”PS gt PQ’

o Watch Video Solution

2. ABC'is a triangle and D is the mid-point of BC . The
perpendiculars from D to AB and AC are equal. Prove

that the triangle is isosceles.

o Watch Video Solution



https://dl.doubtnut.com/l/_LkgNMsb3hdEG
https://dl.doubtnut.com/l/_NcZVrjDpKxlI
https://dl.doubtnut.com/l/_mMY3XXWZandw

3. Theorem 7.2 : Angles opposite to equal sides of an

isosceles triangle are equal.

o Watch Video Solution

4. In the given figure , AC > AB and AD bisects
/BAC Provethat Z/ADC > ADB

A

° Watch Video Solution



https://dl.doubtnut.com/l/_KCCvQCKNsmvn
https://dl.doubtnut.com/l/_gIQQVOBnfEHu

5.S is any point in the interior of a A PQR . Prove

that SQ + SR < PQ + PR

o Watch Video Solution

6. In the given if AD = BD = CD ,Find ZBAC

C



https://dl.doubtnut.com/l/_gIQQVOBnfEHu
https://dl.doubtnut.com/l/_J4h9EEY8JeG0
https://dl.doubtnut.com/l/_PBEHCUrkIAU4

o Watch Video Solution

7.1n the given figure ,if AB = BC and /A = /C then

find the value of x

E D

° Watch Video Solution

8. In the given figure LZABC = Z/BAC , D and E are

pointts on BC and AC respectively such that DB = AE . If


https://dl.doubtnut.com/l/_PBEHCUrkIAU4
https://dl.doubtnut.com/l/_tNnZvJThtNhv
https://dl.doubtnut.com/l/_kCxhLukQjhtP

AD and BE intersect at O then prove that OA = OB

C

A B

o Watch Video Solution

9. In the given figure , if AB = BC , /BAD = /CAFE

then prove that A ADF is an isosceles triangle .


https://dl.doubtnut.com/l/_kCxhLukQjhtP
https://dl.doubtnut.com/l/_SgVwa0Fgqqoh

o Watch Video Solution

10. In A DEF,/E =2/F, DM is the bisector of
/ZEDF that intersects EF at M .If DM = MF' , then

prove that /EDF = 72°

o Watch Video Solution



https://dl.doubtnut.com/l/_SgVwa0Fgqqoh
https://dl.doubtnut.com/l/_D4XuFwdYltqC
https://dl.doubtnut.com/l/_kokvY25HJYWA

11. Show that the angles of an equilateral triangle are

60oeach.

o Watch Video Solution

12. In the given /figure Za > Zb , show that

LATM < LZAMT

o Watch Video Solution



https://dl.doubtnut.com/l/_kokvY25HJYWA
https://dl.doubtnut.com/l/_7Y5ZB9U3DSZi

1. AD, BE and CF, the altitudes of ABC are equal.

Prove that ABC is an equilateral triangle.

° Watch Video Solution

2. Angle-Side-Angle (ASA) Congruence - Two triangles are
congruent if two angles and the included side of one
triangle are equal to the corresponding two angles and

the included side of the other triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_CxFI6V0y7Ru1
https://dl.doubtnut.com/l/_NwncRlkbXW3W

3. Let O be any point in the interior of AABC, prove
that :

AB + BC + CA < 2(0A + OB + OC)

° Watch Video Solution

4. Prove that the perimeter of any triangle is greater

than the sum of three altitudes.

° Watch Video Solution

5. Two sides AB and BC and median AM of one triangle

ABC are respectively equal to sides PQ and QR and


https://dl.doubtnut.com/l/_Zm5d806kyLzv
https://dl.doubtnut.com/l/_HDGAmkJG93JP
https://dl.doubtnut.com/l/_aqcbsl7giiX4

median PN of AABC = APQR(see Fig. 7.40). Show

that:(i) AABM =~ APQN(ii) AABC =~ APQR

o Watch Video Solution

6. Two sides AB and BC and median AM of one triangle
ABC are respectively equal to sides PQ and QR and
median PN of A PQR. Show that

AABM =~ APQN

(i) AABC =~ APQR

A P
/N

/ )
R—e \ .-
— N\ O\

Y|

° Watch Video Solution



https://dl.doubtnut.com/l/_aqcbsl7giiX4
https://dl.doubtnut.com/l/_alK0ZAR9mA8n

7. In the given figure , AB=AD |,

/1 = /2 and /£3 = /4 Provethat AP = AQ

o Watch Video Solution

8. In right triangle ABC, right angled at C, M is the mid-

point of hypotenuse AB. C is joined to M and produced


https://dl.doubtnut.com/l/_alK0ZAR9mA8n
https://dl.doubtnut.com/l/_rVrr6e3OuI48
https://dl.doubtnut.com/l/_lakObo4VTQ8o

to a point D such thatDM = (C'M. Point D is joined to
point B (see Fig. 7.23). Show that:(i) A AMC =~ ABMD

(ii) /_

o Watch Video Solution

9. The sum of ny two sides of a triangle is greater than

third side.

o Watch Video Solution

10. Vandana wishes to literate the poor children of the

nearby slum area . She makes flash cards for them as


https://dl.doubtnut.com/l/_lakObo4VTQ8o
https://dl.doubtnut.com/l/_yBiDt0Fj1vB0
https://dl.doubtnut.com/l/_dfzWZnKsQEy9

shown in the given figure .

Write which type of congruency is satisfied here.

o Watch Video Solution

11. Vandana wishes to literate the poor children of the
nearby slum area . She makes flash cards for them as
shown in the given figure .

Write which type of congruency is satisfied here.

o Watch Video Solution

12. Vandana wishes to literate the poor children of the

nearby slum area . She makes flash cards for them as


https://dl.doubtnut.com/l/_dfzWZnKsQEy9
https://dl.doubtnut.com/l/_oURTxRrsMtbH
https://dl.doubtnut.com/l/_8R4EeXvYm9dE

shown in the given figure .

Write which type of congruency is satisfied here.

° Watch Video Solution

13. Prove that sum of any two sides of a triangle is
greater than twice the median with respect to the third

side.

° Watch Video Solution

14. In the given figure , AB = CD,CE = BF and

L/ACFE = /DBPF .Prove that


https://dl.doubtnut.com/l/_8R4EeXvYm9dE
https://dl.doubtnut.com/l/_pFEgT8lw5bEh
https://dl.doubtnut.com/l/_FjiewBkm1JpR

N ACE = AN DBF

° Watch Video Solution

15. In the given figure , AB = CD,CE = BF and

/ACFE = = /DBF .Prove that


https://dl.doubtnut.com/l/_FjiewBkm1JpR
https://dl.doubtnut.com/l/_Bqwp3v184fq0

AE = DF

o Watch Video Solution

Practice Test

1. Find the measure of each exterior angle of an

equilateral triangle.


https://dl.doubtnut.com/l/_Bqwp3v184fq0
https://dl.doubtnut.com/l/_1WatMNnSaqZU

o Watch Video Solution

2. Which of the following is not a criterion for

congruence of triangle ?

A. SSA

B. SAS

C. ASA

D.SSS

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1WatMNnSaqZU
https://dl.doubtnut.com/l/_R5TSkwBdpfKQ
https://dl.doubtnut.com/l/_sllBXCLDrB18

3.In a AABC, If AB = AC and ZA =70 Find

/B and ZC

° Watch Video Solution

4. The vertical angle of an isosceles triangle is 100°. Find

its base angles.

o Watch Video Solution

5. AABC is an isosceles triangle with AB = AC, side
BA is produced to D such that AB=AD. Prove that /BC'D

is a right angle.

° Watch Video Solution



https://dl.doubtnut.com/l/_sllBXCLDrB18
https://dl.doubtnut.com/l/_Glu0HKu4nEB5
https://dl.doubtnut.com/l/_NmkRORjvbaLV

6. In the given figure , C is the midpoint of AB, if
/DCA = Z/ZECB and Z/DBC = ZFEAC , Prove that

DC = EC and BD = AFE

D E
h
S A
'.IIII .&x _.-“"'- /
\ ., .:{.-"' I.".
|lI ) .-.__ - - . I-_.
P ’ﬂ'\. ,-}H Sy
- "-,I .-"ll M\MH
\
/J‘ﬁ Fa I'I. ll.‘l:"\\ . i?\
-~ y 'l.-'l | ", B
A C

° Watch Video Solution



https://dl.doubtnut.com/l/_NmkRORjvbaLV
https://dl.doubtnut.com/l/_Oybo02Rhmvxj

7. In the given figure , C is the midpoint of AB, if
/DCA = /ECB and Z/DBC = Z/EAC , Prove that

DC = ECand BD = AFE

D E
h
PR - f
I.".I -H"“-x_ .f_f.-' /
.".I x:.xi..-" I.".
! . - x_H I_.'
- Hr:‘- I}H .
-~ "-,. Il."l \“«H
&
/‘ﬁ A, -"K\., “E?\
- y '-.." | " B
A C

° Watch Video Solution



https://dl.doubtnut.com/l/_0xelVQNOOgCE

8. In right triangle ABC, right angled at C, M is the mid-
point of hypotenuse AB. C is joined to M and produced
to a point D such thatDM = (M. Point D is joined to

point B (see Fig. 7.23). Show that:(i) A AMC =~ ABMD

(i) /_

° Watch Video Solution



https://dl.doubtnut.com/l/_B0MjL7xa3aYf

